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Q-1 Faferiaa # & forer arafer & witfeer afeg @i forermer dfer i & g 22

In which of the following periods does physical growth and development occur at a

rapid pace? CTET December 2019 Paper 1

A) Middle childhood and adolescence./ & =Y IR

IEAIREIDI
B) Adolescence and adulthood / TeRITRTETAT 3T SIEHATI
C) Infancy and early childhood / FTITATAEAT 3T THIh

FTEITIET)
D) Early childhood and middle childhood / TRk TEU- X AET

TAqA|
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In which of the following periods does physical growth and development occur at a

rapid pace? CTET December 2019 Paper 1

A) Middle childhood and adolescence./ W& U IR TeRyTITarEem)
B) Adolescence and adulthood / TERITIRTEIET AR T&EehdTl

C) Infancy and early childhood / ITSTATIEAT 3T TRk STEIATIET
D) Early childhood and middle childhood / TR{STeR S=ra=T 37 0
Y|
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Q-2 T forermeft stfgetar 2 gaent 312 2 foh:

Every learner is unique means that: HTET December 2013 Paper 1

A) A common curriculum for all learners is not possible. fasft
forerTieian o foTu ueh T uTeHshe wva E @

B) it is impossible to develop the potential of learners in a
heterogeneous class./ Eﬂ*fﬁ'ﬂﬁﬂ‘fﬁ‘&&l‘l’fi\’jﬁiﬁ &I ehT (R Td ShAT
AT B

C) No two learners are alike in their abilities, interests and talents /
1S oft 21 Rremeft srot e, BT S SR T T

D) Learners do not have any common qualities, nor do they share
common goals./ &Wﬁﬁ%quﬁ@%% TE T ATHT
TN ShT HTSIT i 8
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Human development is based on certain principles. Which of the following is not a principle of
human development ? CTET -Dec-2019 Paper 1

A) General to specific / T | fate
B) Reversible / aferart |

C) Continuity / Fiawar

D) Sequentially / SﬂﬁfﬁaﬁT



{72757 CTET / STET 2023
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Human development is based on certain principles. Which of the following is not a

principle of human development ? CTET -Dec-2019 Paper 1
A) General to specific / = o fahre

B) Reversible / Oferare |
C) Continuity / e
D) Sequentially / SQEFFI\RIWT
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Heredity is considered as a social structure. HTET -Dec-2012

A) Dynamic / IENI]
B) Static /feR

C) Primary / TTafHeR
D) Secondary/ ATEA W
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B) Static /e
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Which of the following is a principle of development ? HTET -2012Paper 1

A) It does not proceed at the same pace for all / g At o feru

FHT T & AT T2 agar &
B Development is always linear/ farerta g0vT {Raek AT 8

C) It is Discontinuous process. / Ig 3T@dd TehaT B |
D) All processes of development are not interconnected ACEar
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Which of the following is a principle of development ? HTET -2012 Paper 1

A) It does not proceed at the same pace for all / I | ok TT8 THTT TT{T o 3TRY
T agare

B) Development is always linear/ o guTiRas AT g

C) It is Discontinuous process. / I8 3Hdd TehaT B |

D) All processes of development are not interconnected /%maﬁmﬁuﬁwr@
| | TS §E A &
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We all differ in terms of our intelligence, motivation, interest, etC) This principle
refers to : CTET -2015 Paper 1

A) Individual differences | TR HaWS
B) Theories of intelligence / g, 2 Rrgia
C) Heredity / STGDEIWT
D) Environment/ U TEuT
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We all differ in terms of our intelligence, motivation, interest, etC) This principle
refers to: CTET -2015 Paper 1

A) Individual differences | TR HaWS
B) Theories of intelligence / g, 2 Rrgia
C) Heredity / STGDEIWT
D) Environment/ T TauT
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Q-7 TH ¥ i< AT ITeT frehtd ot fgia 2 2 CTET -2018 Paper 1

Which one of these is a principle of child development ?

A) Development occurs due to interaction between Heredity and

Environment / forerer STTIETRTeRaT 3T qaieror o siter aeen forat o wror
BT g

B) Experience is the sole determinant of development / 3ITHT IECapca)

TRaTH e ®

C) Development is determined by reinforcement and punishment IECac

gareuT 3R 43 g fuif@ gt

D) Development can accurately predict the pace of each individual child /

foreRTar wedreh srear Y T BT W TR ST HehelT B
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Which one of these is a principle of child development ?

A) Development occurs due to interaction between Heredity and

Environment / ferm& 3T|f|97=|'f§'|7=h_<'lT AT TATIOT o <1 TR fshat o
HUTEIAT 7

B) Experience is the sole determinant of development / STTHI o
T ThATS (uTeh B

C) Development is determined by reinforcement and punishment

Ferehmer gteRton ot 4 g Fruifa drar g

D) Development can accurately predict the pace of each individual

child / T&rerTE Tk STool shY TTT ST Heteh STTHT T Tehell §
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The development from central part of the body towards peripheries or

extremities denotes the : CTET - DEC 2018 Paper 2

A) principles of decentralized development / ferehgiene forermar o Rrgia
B) principles of proximo-distal development / e aTer Tarentd o forgia
C) principles of cascade development / T forerTd ok fargia

D) principles of radiated development / TarterttuTa ferenTa o6 fargiar
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The development from central part of the body towards peripheries or

extremities denotes the : CTET - DEC 2018 Paper 2

A) principles of decentralized development / ferehgiene forermar o Rrgia
B) principles of proximo-distal development / T ST TIehTd o fgia
C) principles of cascade development / T forerTd ok fargia
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Q-9 'THIA-AIWUT' foraTE # "Ieh{d" T &FT 3728 7 2 What is meant by

‘nature’ in ‘nature-nurture’ controversy ? CTET - Sep 2015 Paper 1

A) The environment around us / AT STTEUTH T

JqTATAIOT
B) Biological gives or the heredity information. / Sitcreh

ForoTeraT AT ST TITRAT hl AR

C) Temperament of an individual / Ueh STk ohT TS

D) Complex forces of the physical and social world /

Wk TR HTHTNTSR ST <hl STTeeT ITRRAT
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Which of the following is predominantly heredity related factor? HPTET TGT- 2013

A) Attitude towards peer group /WW@%Q‘%@'&T
B) Thinking pattern / e Je

C) Colour of the eyes / ST &T T
D) Participation in social activities / TTHTINTER A TErAT H WHT T
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